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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in

front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question, Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
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Ovary Styl Stigma Anther Which one of the following is the part of stamen.
1 9/‘3></ 9{ . % A K )6@7118ytLu,115J}1lg j(
Charles Darwin proposed the meghanjgm of organic
evolution in O)«(/
(‘/:jéb r‘r:,',{): ) 4 u{:;fﬂ' G%J@Jaljy.{l(ff 3
Ribosome | Nucleosome Height Blood groups | Which onc is an example of continuous variations?
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1982 1980 /|11 197& \ D Yore = ESSkz, 8550 6
A ]\“ e First time interferons was produced in .
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Insulin Cephlosporin | / Opium Aspirin Which of the following drug is obtained from plants.
Sz Jik ‘// AU Jugyb -ug&ﬂ/y‘:/:’;/éu,'/;‘g .8
Bronchi Pleural Diaphragm Alveoli Lungs are enclosed by membranes which are called.
6”: 'JE.'( ‘j"'g;/ J;f -LJ,?L)’L'}CT/I)L.J!KLLJ{:J R
Maize Cotton Cactus Water lily | Which plant has succulent organs.
N7 oLl S P M ks Azl | 10
Glucagon Thyroxin Insulin Estrogen Overies secrete hormone.
u"w}ﬁ‘y/ JH £ W%y 1 e b TEEL G, | 11
Osteocytes Matrix Lacuna Chondrocytes | The mature bone cells are called.
L2 et S e e et i, )é 12
Bacteria Planaria Rhizopus Yeast Fragmentation occures in.
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